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ADB * KD Crosstabulation 

   KD 

Total    Kasus Kontrol 

ADB ADB Count 3 2 5 

Expected Count 2.5 2.5 5.0 

% within ADB 60.0% 40.0% 100.0% 

% within KD 3.6% 2.4% 3.0% 

% of Total 1.8% 1.2% 3.0% 

Tidak Count 80 81 161 

Expected Count 80.5 80.5 161.0 

% within ADB 49.7% 50.3% 100.0% 

% within KD 96.4% 97.6% 97.0% 

% of Total 48.2% 48.8% 97.0% 

Total Count 83 83 166 

Expected Count 83.0 83.0 166.0 

% within ADB 50.0% 50.0% 100.0% 

% within KD 100.0% 100.0% 100.0% 

% of Total 50.0% 50.0% 100.0% 

 

 

Chi-Square Tests 

 

Value df 

Asymp. Sig. (2-

sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square .206
a
 1 .650   

Continuity Correction
b
 .000 1 1.000   

Likelihood Ratio .208 1 .649   

Fisher's Exact Test    .684 .500 

Linear-by-Linear Association .205 1 .651   

N of Valid Cases
b
 166     

a. 2 cells (50,0%) have expected count less than 5. The minimum expected count is 2,50. 

b. Computed only for a 2x2 table     
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Risk Estimate 

 

Value 

95% Confidence Interval 

 Lower Upper 

Odds Ratio for ADB (ADB / 

Tidak) 
1.519 .247 9.333 

For cohort KD = Kasus 1.208 .581 2.512 

For cohort KD = Kontrol .795 .269 2.352 

N of Valid Cases 166   

 

 

 

 

Case Processing Summary 

 Cases 

 Valid Missing Total 

 N Percent N Percent N Percent 

ADB * DerajatKejang 83 100.0% 0 .0% 83 100.0% 

 

 

ADB * DerajatKejang Crosstabulation 

   DerajatKejang 

Total    KDS KDK 

ADB ADB Count 3 0 3 

Expected Count 2.1 .9 3.0 

Tidak Count 55 25 80 

Expected Count 55.9 24.1 80.0 

Total Count 58 25 83 

Expected Count 58.0 25.0 83.0 
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Chi-Square Tests 

 

Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. (1-

sided) 

Pearson Chi-Square 1.342
a
 1 .247   

Continuity Correction
b
 .268 1 .605   

Likelihood Ratio 2.199 1 .138   

Fisher's Exact Test    .550 .336 

Linear-by-Linear Association 1.325 1 .250   

N of Valid Cases
b
 83     

a. 2 cells (50,0%) have expected count less than 5. The minimum expected count is ,90. 

b. Computed only for a 2x2 table     

 
 

 


